3. fid/k=-Euk=

8 Lk F/KkiE

Bfrm
E i VN . Bk & . — A
=4 AR B & T YT e UK & Tk B
M K| 15,828,564 46,583 32,252 43,366 15,828,988 43,367
& # 7 201,547 1,382 0 552 221,701 607
= 537,898 2,037 103 1,474 591,687 1,621
%o i 126,093 559 2 345 138,703 380
AEEXE gz 98,496 896 0 270 108,345 297
XA 182,887 600 425 501 201,176 551
NOR 65,847 367 0 180 72,431 198
4 K| 17,041,332 49,055 35,645 46,689 17,163,031 47,022
f( g E i oW 189,033 678 430 518 207,936 570
B K 98,822 531 118 271 98,822 271
fg g E i xF 27,554 295 0 75 27,554 75
SRR N 126,376 563 268 346 126,376 346
mEfide n 24,213 155 37 66 23,789 65
T FER215E4R ~FR2243R KEBIHR
4. BEREHBER . _ 3
B A F, M, % m
%4 FE 2005(F17) | 2006( 18) 2007( 19) 2008( 20) 2009( 21)
ATEX N A A (A) 179,413 180,924 181,886 182,164 182,594
= % 73,542 75,067 76,079 76,593 77,108
BLIEAR K AN 0O (B) 145,412 147,039 148,817 150,651 151,189
Bk P K 62,394 64,030 65,436 67,187 66,964
R FE(BA) 81.0 81.3 81.8 82.7 82.8
fER R K & (C)l 17,197,971 17,430,656 17,661,739 17,587,450 17,380,954
ALK ®E(D) 15,789,486 15,825,909 16,072,265 16,090,082 15,890,450
— BB A UK & 43,259 43,359 43,913 44,082 43,535
HFW=E(D,/C) 91.8 90.8 91.0 91.5 91.4
(S R i 220.45 219.34 219.63 219.46 243.04
fooKk R A 258.72 254.08 255.84 254.06 250.87

KB F 4R (E)

(9B K IE E)

Kl HE 2 (F)

Z 5l (E — F)

4,149,272,530
3,480,778,934
4,119,353,592

29,918,938

4,033,203,553
3,471,194,522
4,061,297,499

-28,093,946

4,158,529,569
3,529,942,626
4,190,738,307

-32,208,738

4,001,589,198
3,531,076,146
4,098,232,385

-96,643,187

4,281,479,536
3,862,051,682
3,998,871,235

282,608,301
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